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1. Introduction

Actually in WG1 were different RACH payloads identified for TDD and FDD, this assumption comes basically from the difference of the needed information for initial access and packet transfer and from the different capacity on the RACH for TDD and FDD. Also the aspect of cell planning for RACH has to be considered.

2. Discussion

Based on this assumptions a way forward could be seen in the LS from RAN2 created on the Yokohama meeting which was sent to  RAN1. Some possible combination were addressed, based on the assumption to split the payload for both modes into two parts. It was assumed that the first data will be transmitted on the contention based RACH and a remaining data part will be sent out on an additionally allocated capacity. 

Based on that the following combinations for a segmented RACH Access could be addressed:

· RACH + USCH     ( for TDD only )

· RACH + DCH
( FDD & TDD  )

Also multiple RACH are possible, but we see some advantages in the first approach. Based on that using multiple RACH access the capacity on this channel increases and  possible segmentation is restricted. 

The RACH can use the available capacity for each mode to transmit the first part and if necessary the second part can be transmitted. The major advantage is seen in the fact that the use of a not contention based transmission capacity on a associated channel will be possible. In this case we are able to use this additional capacity by request, see Figure 1:
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Figure 1:  RACH access with additional capacity

                  allocation


Figure 2 shows  the basic principle of such a segmentation. The thresholds k and j are 

set by RRC, the exact value can be adjust on the final outcome of the RAN1 investigations.
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Figure2:  Payload segmentation

Note: 

RRC selects the needed amount of data (x bits) for  TDD and FDD  and sets value of the segmentation

thresholds k  (TDD ) and  j (FDD )

Therefore the first  access uses k bits for the initial payload access in TDD 

and j bit s in FDD respectively.

 

The remaining capacity to be transferred on DCH / USCH is x-k bits in TDD and  x-j bits in FDD

( if  k , j < x ,  then  only one RACH  access has to be performed. )


3. Conclusion

To overcome the situation of having different requirements on the payload and the capacity of the RACH it is proposed to base  the further work in RAN2 on the presented generic approach. A detailed CR for TS25.321 and detailed change proposals for TS25.303, TS25.331 will be produced if an basic agreement could be reached.
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